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Math 12 Enriched HW Section 2.6 Inverse, Reciprocal and ABS Transformations:

1. Given that the coordinate (a,b) is on the function y = f (\) , indicate what the coordinates becomes

after each transformation:
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2. Given the table of values for the functlon y= f( ) fill in the TOV for the other functions:
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3. The point (6,12) is on y = f(x).

What does point become for each function below?
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f (x), draw the graph of the followmg functions:
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5. Use transformations to graph the following equations:
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Invariant points are points that do not change after a transformation. Given the function
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